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Introdução

Problemas envolvendo sistemas de equações

lineares

Molas acopladas

m1 m2

A B k1 k2

x1(t) x2(t)

m1
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m2
x2
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k1 = k2 = 2

m1 = 1 m2 = 3

x1(0) = 0, x2(0) =

0, x3(0) = 1, x4(0) = −1

Sistemas elétricos: Malhas paralelas

Ri, Li′

E(t) = R1i1 + L1i
′
2 + R2i2

E(t) = R1i1 + L2i
′
3,
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i2 i3

E(t) = R1(i2 + i3) + L1i
′
2 + R2i2

E(t) = R1(i2 + i3) + L2i
′
3,

⎛
⎝ i′2

i′3

⎞
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⎞
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⎛
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i3

⎞
⎠ +

⎛
⎝

E(t)
L1

E(t)
L2

⎞
⎠ .

R1 = 2 R2 = 1 L1 = 3 L2 = 1

E(t) = 3sen 4t

Problemas envolvendo sistemas de equações

não lineares

Movimentos de corpos celestes

R
3

m1 m2 m3

r1 r2 r3

Gmimjr
−2
ij i, j = 1, 2, 3
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rij = ‖ri − rj‖ G

m1r̈1 = Gm1m2

r3
12

(r2 − r1) + Gm1m3

r3
13

(r3 − r1)

m2r̈2 = Gm2m1

r3
12

(r1 − r2) + Gm2m3

r3
23

(r3 − r2)

m3r̈3 = Gm3m1

r3
13

(r1 − r3) + Gm3m2

r3
23

(r2 − r3),

Conclusão
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m1, m2 m3
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LEITURA COMPLEMENTAR
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